Al

-

dala Claadad

~t 1
2l
A zisadl

Agtlal) ¢y g dnalad) Al

)

£

Y

— N N < vn O >~ 0 O O —~ 1 on < v O >~ 00 O O — o on < e)
AN A A AN
1 1 1

A Jisad
1
1
1
1
1
1
1
1
1
1
2
2

CNON NCRONCNONONCNONCRON NONON  NON NON N NONONON-/
o) NON NOX - NON NON N NONONON NONONONONONOX NONONO
SHCNONONON  NONONON  NONONONON NONONONON NONONON NONO)
SNONONONCNONCK  NONONONGON NONONONCON NONONONONONOX - NC)

B

doldl) B uslall B, =

A dalsadl iy | ‘

-

B

Gl a8
gla¥l

;EL_).!;.I\
:el—-&ﬂ‘

— NN N T \n O > 0 N ©O —~ AN n I wn OV > 0w O O N n <t
111111111127_7_27
1

@@Q@@@@@@@O@@Q@@@G@@O@@@@
ONONONOX NONONONON NONONONON - N NONONONONON NOX NO)
SN NONOX NON N NONONONONONONONONON NONON NONON NON
NON NONONONONONONK NONON N NONGNONGONON NONONONONONG)

)
[q]

Jisadl

A

AN A e

Akl L)
olall plasll
e el

<o

!
_.w
M

)

I

g

-

) asra | #2024/2023_21445 adall plall J5dll Aaliall L)

(I

Ala) (e ST Jullis Jla 3 Al ol @) JS Vg ) pes JSU i Baal 5 Aula] Jullits 351 sl 2 su¥) i) I8l ladind cany -4

(S SN ol 22U 5 Gl Sl p ) ot wiey -3 Leale RS 5 Lpawsas i Lol pae 5 Ala Y1 48 )5 e Adailadll any -2

DAY Jls 8 laa ) $ 30 iy s (B sl A) I A8 )5 73 e e Al Y1 A8 5 23 se (3ol (o KU iy -]

L e

D@@@O@@@@,@@@@O@@@@@@@@@@@O
SN NONONONONOX " NONONONONONONONONONONONONON - JONON  NO)
LNONON NONONONON N NON NONONON NONON N NONON: NONONO,
A@O@@C@@@@@@.@C@OO@@@@@@@@

Q. 0 — 2 43 4 5 6 7 0_0 9 0 —
—t o N <t ) \=} ~ o0 [« W T T T T R T T B (o] (@\] o ol




— &N N I n O > 00 AN O —~ &N N T n O >~ 0 OO0 ©O —~ NN on <t 0
— — — — — — — — — — (o] (q\] (q\] (@] (@] (@]
1

RERCACICH K JOX NONONONONONONONONON NONON NON NON N
M“B00GGGOGOGCOOGOQQGGOGGGGGO
SHON  NONONONONONONK NONONON NONONONON NONONONON NONO)
c¥cX Xe¥oYo¥oRoXokeX XexcxexeX xoxexexex yxexexele

Jlpaall

-

Lad) Al 4l

dala Oladdas

£~

m, $Q\9“9~"Ja.a.a

O assae | $2024/2023 21445 aslad plall J5ill 5 Alalial) Jogal

/Tg

P
s

#

D

— NN N < wn O > 0 N O — &N N <t wn O >~ 0w o O

RSl b culall B =

3

3
=24
-25

A Jisd
1
1
1
1
1
1
1
1
1
1
2
21
2
2

@@@@C@@@@O@@@@O@@@Q@@@O@@
L NON NONOX NONONONONONOX- NONON  NONONONONONONONOKO)
SHCRONONC NONONONON NONON NON NONONON NON NON NOX NO
SHON - NORONONON NONONGOK - NONONONONON NONONONONONONOK

EPSIRTETRYE PR

(Gl A8
glal)
B

DEAY) Jla B LDl £ 30 2 (B sl A) Al 48 55 3 5 ae Aa Y1 48 )5 73 g (@il (g SU Cany -]

n

SHON N NONONONONONGONOK NONON NONGONONON NONOK  JONOX-
SHCRONON “NOX JON  NON JNONON JON NONON NONONONOXK  NONO
2N NONONON NON NONGNGNGN NONCNGNON NONONONONONOX YO
CHONCRONCRONCHON NONONONONONON NONCRON XN - NONONONO

e} © —~ &N 1 S \n O ~ 0 o O
S T L T T2 T V=T S < R = =0 S S A St Q

LA O A

aclall

|

-

)

G

L.

R

2
3
24 -
25 -

21
22
2

(S, 5S ramatl) 2DUET 5 palaa I 28 aladind gieg -3 Leale LS Sl Lot of Lot pae s AlaY1 48 )5 o ddailaall a2
el (e T Qs Jln (i eyl 1055 @SS g (I pum JSU e B3 T} il 55391 o 3 guell) ilndl B ahaiiudt cams 4




Basls el : LEAYT (e o
Jgws 25 :allY e IBB UNIVERSITY
42,100) : Laay) &y i | 5 mi ulld
eLaS aaldll
£ B 22024-2023 aladl Ll AT etiiall Alaliall aal A fine

;a..n.)ysas”us\m\,wwtgg\ﬁsa;i%@md@giji

................. G Alle (4 as o s VIIIB 4 sanall jualic das gy jeaic -]
B L&l D] aamds i [C] s )l | B] e A
................ Al palea¥ly 3 s jalie 6 AJEE Ao pane -2
[ o TVB B VI T e VB | B 11IB A
.................. 2 2l 555301 VIB 4o senall 8 ok o omiadl -3
| Nb*! D N e Fe? | B Mo* | A
................. Sl b e L 55 e malll 8405 53l 55l all 4uesS 4
AH;® |[D]  AHS ] H |B| AH | A
dad Gl Jea 300 W _laie 350 all (e AuaS Cuaiial ol ya 20 LS (aee dakail de gl 3,1 jall -5
N ewe e & % 50 Jamas iyl a
i 0.44 |D] 0.3 | C] 0.4 | B 0.39 |
............... Sl i) Alall e 5 451 el il ANl G 26
| L [Pl s e G] ag B s |
............... e il Balall Ll B a1 3] s e (e ity 27
Gule S| D | 2204l sl cbaa [ C ] Gand GLUYIE0a [ B[ alal pand S0 551n
EHEON 258 5S Aardiiadl) o) goll B Sy N A gaaall
Ju=dVl sl Uil Lt S35 51 m
................ ) FeO JI sl o il o dll & -8
| Fe [D] Fe0;+CO, [C|] Fe+CO, B R g0 U]
................. P il e ARk Jelilll 5] ja lal 9
| dmVis,a D] ow oy | C] gl mudl [B] W6 |
AT 4S8l a 5K 06 25 s |l il SV (Sl -1
| 400+ s o ] 450- | B| 112- | A
.................. 38 OF; S jall 8 aaa€ M 2l aae -1
| B L eie S e Bl 0 A
................. 1S JelaS ilaelll e litll 8 padiy 12
| KIO: D] H,G0s [C] H, |B] Na,S,0; A




£2023/8/3 : sy s | s 3&;\;
E.\.;b&oh:j-_ﬁi\’\oa_}l T A R
g 25 A48 s IBB UNIVERSITY
45,3(100) : L33Y1 a8 i | 9 Gmai i
elaasS 5l | :
shasS Bl ] 22024-2023 aladl adall 408 el Alzaliad) laal A gis
................ O3S 4885 jall anall Gl (paee 485 die 5 alaall 488 Sl HeS)) Jdaill e ikl e 213
T Y S B ] B
Py ot 2l et D0 L aoal Jiey s Al 5 S Ala (il A shia o) gl b -14
‘ paall <l
|  AandB FD[ 2 sl oo i €] 258 |B] Ll A
.................. g]leO ‘é_l\ ggXZ]z1 d_,=-‘-3 R L:Aua-\a -15
| osfs [:D] Lls [ C] Gl [B] T (A
.......... s HoCoOyp Sl 4 s SU 28 22 216
| 4+ | D] 3c e 6+ |B| 3+ ]Al
................. 2580 LA Ll e (e - 17
Aand B D aaxall 3 S C| adiwapadl |B| el L @llenns ¥ kY| A
............. SOl il Jelall 3 sa 55 58 5l 5855 ) jadl Aajo s baally Al Jelill de ju Jee -18
[~= 2 &L E[D] AandB |[C] Aessl [ B] Alesll [ A

________________ Lol i 31 gl il o ol A 50U A8LED (e 3_le Lol i yad -19

[ AandB [ D] gssll Bl dlalk [C] JbaSlcy@llalh [B] JueSI Rl gk [ A

................ il 1A al 4, oY1 & 220

| 100F > B aNE B |B] 145178 A
................ in e ad Cle a1 5l Clapanll sde 2al 21

T e v A
................ Gl (e S3L yull ot 222

] <Y <l \ D \ N y = 1 Gy ‘ B \ T 1 A
................... L sSe s il (e g s Jaed| paeal) Jeliy 223

[ Gule S [D] WS jaes [C] dhulaigmds [B]  sddincliul] A
................ i Sl Ll Jladll 24

| B and C | D| ZLiesjalesl | C| Js s |B| S S A
................ 2 U308 D3 et i 53 YT SN AL sl Aell 25

b cle, Dl ICHeG el CsH;00s [FBE CsH;¢0s | A




£2023/8/3 : kaa¥) gl | = U s
aalg Aol 1 JLEAYY (e ' G s

S
g 25 1388 a5 | IBB UNIVERSITY
42,3(100) : JLasy) dae | G i | 9w el
eliasS 50l]l |
el 3aldll 22024-2023 alall Clall 40 paniiall Aaliall lgal B zise

sAlay) 48,5 ) Alil) g dacaall Alay) U A s b Lea J) e JS 80

UsSe 55 il Gaea ae s (el el Jeldhy -2
Gue S |D| SISO, dai gpada [B| siel dieclind | A
................ 2 Glaglll Sl Jlaill -3
B and C | D| Zmag=lal | C| Js sl | B] il S | A
A s S GI3 Guad el (3 (alaY) Sl 45, all Aaall 4
CsH1206 CsHi20s | C| CsHi00s |B] CsHi0s |
................. G Alle 8 aa o9 VIIDB Ae senall jalic Bos g jaic -5
b [D|  esfs M | C| s | B es2Y! |
................ LAl (aleaVl 5l b jualic o 55 20651 Ae sane -6
B VB | B] 111B |
.................. 8 Aualdll 3 52l VIB Ao sanall (3 a&y (g2} paiall -7
Nb* e ) B | B] Mo™® |
el L e Lei S5 e okl 8455 Al 5 ) jall S -8
[D] [C] H B AH |
Aa ) Cadilh J s 300 W ylaie 5l all e AseS Cualial ol 20 IS ane Akl A gill 31 a1 -9
el e o 0 50 Joxes L3l
0.44 |D| . L 0.4 B 0.39 |
el Al ATl ey &)l el Akasl Alaladll (B 410
€] aq [B] s |
e caaill oalall Apuliall (3) eV 8 )l ja s (e Sy -11
L A all adll Clus paxd GlAaaYIs s | B Al sall (and G S B ) A
4alis 28 S dandinall af gl ol (S Y Al 4 sl
Jumiy) jigal 5 e L S35 50
I FeO JI 5l 3 gl o il & -12
Fe+CO;  |B| Fe - €0 |
iy 5 5l g Ak Jelill 3l Sl -13
B ES "y 53l @l el \B] S 5l \A




£2023/8/3 = uaay) gl | = e
5asls el 1 LEAY) e | biihert by
42,3(100) : JLasy) das | i i | 9u duile
c\._mgs HR\A| ‘
el -3l 22024-2023 alall Calall 40 peitall Alialiall sl B zisa

Jse/dss sMSo i, Ay oS53 ya (5S35 05 25 wie |l il SV oSl -14
- 400+ D TEa T O 450- | B| 112- | A
.................. 8 OF; &S el (8 € D ausSUll a2e -5
o |D| 1- 2+ [ B] 2- [ A
1S 50 JalaS el CBle il 8 aaddn -16
KIO; |[D|  H.G04 H, [B]  Nay$:0:

Grula S | D | s [ C| Unseae | B] laxae
) LRI, 030 Lead oall Jiay s Ailia 5 jeS A (el da glata ) B Sl 4 -18
. sl ISk
AandB  [D| 2x=d | B] Ll A
g1 X210 (A g3 X214 J a5 e 3Ly -19
D] ~ ' [B] G [A
5 HyCr04 Soall (8 s S auslill e 220
4+ | D| 3- | B | 3+ | A
2580 LA Ll e e - 21
A and B D| sallsnS [C| adies4l Jeeddll (W s Y ol | A
S \El & sl Jaladl 2 5m55 Sl i pall A s Baally il Jelal) de ju Jaxe 222
[ n= € Gula K[D] AandB [ C] A5l | B] Al [ A
Lol L 3 gl il oSe il da 1 A8 e 5 b Ll Caas 223
A and B } D| 555 Bl yill 2l ]c; Soell i B [ B Ahesl byl i 28k A
ot ST a0l 2, 531 51 -24
100Fm*>? D] ;L | B| 14817 | A
Taad L ud CleladY) ol Glasall s3a sl 225
=i |B] y | A




Aghl) cldsl) nA <) to,)‘:,;'.»' =
Clawiill gaa  1oawddl) Foee rln2ee
alal) agladl)  ralJall) . Al ¢ g gl Amalad) Als ) Al

sLal) i) | 2024/2023 (aalall plall Alalial) 54 A zisadl

AaW 48 59 ) g 555 AW ALiad Aamaal Llay) )

| | |

éw@ﬂ@m‘éﬁﬁ‘:@‘°ﬁujﬂd;u\_l

il D ‘ &l -C i Ja Ll B ‘ alalakall - A

L1 ) sl it &l 55 Alee 3 pSaial) | cpall -2

= R A 5 YD [ bl s pisS C | B e S 5 B A I s S A
Slalyl il s BsA :

Agiiall A8l (e Uiy el G cpiadl 8 eliae VI (3 oS5 e U1 -3

@MLMJS_D‘ FREA _c‘ ol -B{ FIEUI

el 2SSY &) Al Gl S Levie (W1 duallall el W) B4

Gulaapd D[ sl gl C] sl -B | Slowa s S -A

M\JL@ASH_\)A\JLLAJLJ\L&JJMHA}@M\M\BACLMGALuﬂg‘d\dvﬂ:JA’-J-S

Gralaa o D | AR C] s XA B SV _A

T b ]l (5 _uadl) S 3k (e ALl -6

ps3-D 1 Sl -C ‘ psbladl -BW glnill A

1 L s A0 a3 a5 1 s Gl Gl ind le Jans (ygah -7

G sl -D ’ O s sl -C | O sis paedl B ‘ O s A

VN SR 2 iy 5aed) i L Ui &S g DNA 6558 el i U s 135 -8

Guolea ol D] By claladl C | Cplie cpalatl B | Oplimia cpalasl -A

I&gjy\w‘eﬁ\w&}jgﬁj_g

el -D | L1 -C | ikl B | p el all A

oA Al o) BB (g Tl Aga) ) 085 (S (5 255 -10

Godl D] Slegydise -C| il gilanli B | RSB A

Bl 3aalis ac s dale Gl (Blus (e dadald 8 o Lgad 5 caS) il sl s (B 455k Jasindi =11

G las ol D | Jixill -C | 250 -B | skl -A

rple Jaie )sag e Allall Cunall 48 ) 5ll ale e (A55-12

1884 -D | 1856 -C | 1843 -B | 1822 -A

o opall dn B (SS9 413

BsA-D | dpie 15 C | 435l A B | Alme Lgd A

e Al Sia A el 00N p L) gl 1 - 14

cbadl D ‘ il -C ’ Cliwadll B ] il - A

2 e 1 Al




el sl Aty @ %S . ‘ :.;’EL;
Clawddll aea 1ol iahia S 7°U,W?‘ o

alall agladll  salJail) Atlal) ¢y g daalad) Al Al

slall ssalall | 2024/2023 2alall alall Alalial) sl A :zisall

AaY) 485 ) Lgi s ASY) AL Aaaall Aay) fid)

o Aol 33l AR il 15

s A D | 205 g5 -C | (ise st -B | i sa gt Axg )l -A

10l (e Lliaa (555 A8l 8 Ladé (4) o8 )

Glas 2 -D ‘ b -C | =3B | ¥l -A
Al LaYI LA 8 RNA Gaes (s e SlaeS 5517
s D | s8-C | ilsic B | ALBE A

- Jhe Gl SN s 3 o 501 Ay iU ST 18

3l -D | o sl sl -C | i~ -B | kil - A

7000 -D | 8000 -C | 700-B | 70000 -A

1 lans (e Aanll LA ) glae (aliAS2()

G lae o -D J Jsklls kil -C ‘ oaall 5 kil B ‘ o= adls kil -A

O A5 sal) Almall LI (e itny 3 (ol il PN ERE WS e g Y
ol 23l ol (o335 Al Ay senll A YY)
G bee ol D | BsA-C| 58 B | 38l e A

:J&E‘)Aﬂ\e;.lb):\és._\lﬂ\)wﬂéc D8ns ysaia 22D

Sli€ sl D | oy -C | Sl all B | LS YI-A

relaall e 5 on gall asi g ) Jafiasall pe das yy Coagll 4080 ) (.. ) Ozl Jsas e 23

&umwa-D‘ J;‘y\dy)x\-c’ @@\J}MJ\_B‘ Chaaiaal o A

saainall 3l g sana (10 % .o s (o sal I Jaladl g slany (A (aldEY) Jiay -24

86 -D | 58-C | 85 -B | 80 -A

&;ﬂdlaﬁ}:ﬁ\z\}s?ﬁ@u‘qjﬂ\@Aumjujass)sé;a_.,\ﬁjﬁuwg&go\)ﬁmm_zs
i) laie Lol

(2n) %58 i -D | (n) &5l & -C | (2n) 915 -B | (n) o5 -A

cc‘CL.}ﬂ\J @g;ﬂbr,ﬁbﬂ.ms

2 (= 2 dasall




Agdal) @l AL t<) °9,’);;? =
Clawddll gy 1ol (i SETiegaes
alal) adatl) sl , Atlal) ¢ g Amalad) Al Al

slal) ssalall | 2024/2023 aslall alall Aldaliall L) B :zisalll

Aa) 885 ) g 5 ) ALl sl ) A1

|

Lo oY) a8 335 sall Apliaadl GLIVY e Coany A aal) paailly L 3l cleal) sardl il -]
:e.ﬂ\_j 222l o2 dAa_’\ g_ﬂ\ 4 gedll

G las o D | BsA-C| sl it B | 5l -A

sfie Liall SN (yiamy 8 o5 ¢ ol ARy play i D) HSEN 2D

<lkdl D } aspssalll -C | =iy -B ] 1 aedl -A

&;ﬂd\%};ﬂ\'&\yw@uq)ﬂ\CM&&}Q}ASBJEE@\J&A}J#&Y\&.\M&Q\)EY\.A.\s-3

il Liaia Lol

(n) 995 -D | (2n) J915i-C | misiaf-B]  Conhsigii-A
204 Apalanll saall alall adll 4

Slise 0 A D | cisen -C | a5 050 -B | iisan Axp )l -A

oLadl e 35m sal) i s Jiieall goa a5y CongV AN Y (L Y el s wic 5

Ge s ad D | Caid) -C | AU J s )l -B | Js¥ Jseall -A

700 D | 8000 C | 7000 B | 70000 -A

A0 (5 13 o)) sV ae (mnd A8l aladinly Ol V) ae (s e 5a s oo RESH (adi) asd el jal e -7
(sl s Wlias (S5 A8 8 Laé (4)

_)..a:.Y\ -D ' @%L-C ‘ clas e -B ‘ : ,)“‘A‘y|-A

ke Jie ymyn Alladl Cuaall Bl Ao une 855 -8

1822 -D | 1856 -C | 1843 -B | 1884 -A

:J&B)ﬂ\e_j.aﬁb_'):\ég._\iﬂ\JuS}Ajéc)é;,gQ}Aﬂ_Q

L€ 2l D | Sl sl -C | Y1 -B | LS A

sh LS Loy S5 8 il ik o8 bl 3,58 (5S¢ - 10

sailall -D \ abladll -C { J&s L, B ‘ il A

radiaall o) il & sana (0 % ..., s (ol Jaladl () sheay 3l GalaaY) Jiay -1

85 -D | 58 -C | 86 -B | 80 -A

rdie Al die Ay el DD g Hludall okl 1y 212

gl D ‘ Sliwadd! -C ‘ Clieedll B ‘ il A

el LY LA A RNA Gaes o . S 3525413

s s D | i sie -C | 525 B | L A

R o i 5 53y2a)) i Ll Uie BI& (30 DNA 55531 Gl Cie Ll Alee 125 -14

G les 8 D | Opladaie palatl -C | Caliie (palatl B | e Cilaladl A

2 =14l




bl cldsl A1 G :,;'.-'L';
alal) agladll  alJail) Allal) () g9l Amalad) Al Asls

slall salall | 2024/2023 el lall Alialial) jLia) B :zisadl

LY 48,5 ) Lgay i g A0Y) ALl dapaual) AaY) 8

:‘;‘ . .L.);"." S‘-'.‘S.n )_51;4.1 .!....-_15

Gewlae ol D | adls Skl C o2l i kil B | Jshll s Lkl -A

s madadl Y L & Al QLY g Lesie 1 Al opall WL 8216

Gl o D] S, A C | L el B S A A

toe ol ds 8 (S5 -17

BsA-D| Apie DA C | L5k DA B | ilac Lod oA

Rouiall Gl e Uiy el (6 a8 Liac Y1 535S oL 218

&LMJS_D‘ @;J\g\_cl GLMJM-B’ FRENTIN

ot A sl A (e Rl Al ) o5 (lS) e 255 -19

&4 -D | Slies il 32 -C | »S0e B| s gilasall -A

L1 ) sl Jilad &l e oSaidll | cpall 220

Gual¥l e 38 -D| el eWoSY-C| Baal¥dwgs&-B| A Glalyl dse o5 -A
Bj A éuy\ C_\\.M}A

f sl s Al e (B Ol (455 5 el Galdd) Cpaldl Sl e Jasy 50 2 21

ﬁ)ﬁ"‘.)%)_}l-ﬂ‘ -D‘ QJJ&L&}&Y\ _C‘ u:“}‘}_)-h-ﬂ”-B \ UJJ-‘-‘“‘}-‘--‘-\“ T

1 Y remall BTl (e g 55 350522

LY -D | uell -C | ikl B | psamal 2l -A

-2y I 5leadl LA fae Lo alldll W e 33 o8 danasll AT BacLiea bl cadle Sy 223
- L) 3 J5apda (A -

G las sl -D | 2okl -C | & -B | s XA-A

Bl Baalis el agle il (Bl (e Anda JB3 ol Lo 5 4SI il jlacdl a3 a5yl Jasinss 24

Gews Lae 0 D | pkadl -C | 2500 -B | Jiaill - A

550D | el -C | obladl B | glaill _A

cuc\_f._ﬂ‘j é:ﬁ}ﬂhf.g\_u\_wd

2 e 2 dssall




dlast! dgsagant

2023-2024 aakall plad) J 58 claial

S

4 Jalad) 4ad B alal)

f Aol
daa) g sl 10y 3 widake
(2) ;@S 2= dgllalt b Wyl
A g Al LSS

QUESTION 1. Read the following PASSAGE and answer ALL questions below:
It is natural that disasters occur in every part of the world but why they occur is unnatural. Scientists of

geology attribute this to the interactions of some elements happening under the earth causing disasters
(e.g., floods, earthquakes, hurricanes, etc.). If these interactions go smoothly and naturally, disasters
may disappear; this has nothing to do with the cause-and-effect theory. According to this theory, every
disaster is caused by intentional, or unintentional, behaviours of living beings. Since there are negative,
and sometimes positive, effects of disasters, scientists should look for scientific reasons that could

explain the occurrences of such disasters to avoid any possible future ones. Really, it is catastrophic if
disasters occur due to the of human, plant, animal, etc. casualties. That is, all life necessities
may get destroyed creating famine, draught, epidemic, illness, etc. For this end, scientists are required, if
there is a sense of responsibility with governments, to work day and night to protect, or at least reduce,
the occurrences of disasters. But, what if there are no specialized scientists in disastrous areas! I think,
all negative effects discussed above may take place but with a variety of numbers, causes, ways, and

casualties.

Questions:
1. The suitable title for the passage is ————

a) Natural Disasters
¢) Unnatural Disasters

2. The lack of scientists helps in ———
a) creating different disasters in disastrous areas.
¢) creating different disasters worldwide.

3. Inline 7, 'ones' refers to
a) scientists
¢) occurrences

b) Man-Made Disasters
d) Disasters and Governments

b) creating similar disasters worldwide.
d) creating similar disasters in disastrous areas.

b) disasters
d) reasons

4. Do all governments worldwide require scientists to work continuously to avoid disasters?

a) Yes except those with responsibility.
¢) Yes they do.

5. The phrase 'nothing to do with'in line 4 means
a) against
¢) with

b) No they don’t.
d) No except those with responsibility

b) without
d) not only

6. Based on the passage, if the interactions of elements happen naturally, there will be a lack of disasters.

a) True b) Wrong

¢) Wrong to some extent

d) True to some extent

7. The writer wants to confirm that ""unnaturalness'' is related to

a) problems of disasters
¢) causes of disasters

8. The missing word in line 8 can be filled in with
a) absence

b) effects of disasters
da&c

b) presence



A

¢) reduction d) decrease
QUESTION 2. Choose the CORRECT alternative in the following:
9. A—— is an animal which comes as a result of crossbreeding a lion with a tiger.
a) jackal b) liger ¢) wolf d) none of these

30.

10. It is difficult to say how many exactly people are coming but I would say
a) with b) at ¢) for d) around

11. The headmaster commences his speech with tears. The underlined word is synonymous with
a) finishes b) starts ¢) greets d) produces

12. A: Shall we go out? B: No, it :

a) is snowing b) snows ¢) will snow d) was snowing
13. It's time for us to go home.

a)a b) the ¢) an d)—
14. He was left alone with ———— to look after him.

a) someone b) anyone ¢) not one d) no one
15. ——— you give full attention to your studies, you will not succeed.

a) Although B) Unless ¢) Accordingly d) Because
16. There were problem with my uncle concerning crossbreeding. The incorrect choice is

a) b) ¢) d)

17. A topic —— now .

a) is being discussed  b) has been discussed  ¢) discusses d) is discussed
18. ————lovely food!

a) Which b) What ¢) What a d) Which a
19. Bill ————play tomorrow.

a) going to b) is going to ¢) shall d)—
20. A_dressmaker has given me a_two-paper test at school. The incorrect choice is

a) b) ¢) d)

21. That was the only thing that made me all books out.

a) took b) taking ¢) take d) takes

22. "My brother is interested in photography. He used to take his camera with him. . In addition,
I read a lot about paintings and painters. It is interesting''. The blank can be filled in with:
a) Recently, he has bought a new camera. b) For me, [ am fond of painting.

¢) Some of his photographs have won prizes. d) I don’t have camera of my own.

23. ""He has great knowledge of English history''. The suitable question for this sentence is:

a) What kind of knowledge does he have? b) Does he like English history?
¢) Is he fond of English history? d) Is English history available with him?

24. A can can be put away when necessary. The underlined word is a
a) modal verb b) verb ¢) noun d) conjunction

25. We can add to the word ''great’’ to make it a noun.
a) -ment b) -ous ¢) -tion d) -ness
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QUESTION 1. Read the following PASSAGE and answer ALL questions below:
It is natural that disasters occur in every part of the world but why they occur is unnatural. Scientists of
geology attribute this to the interactions of some elements happening under the earth causing disasters

(e.g., floods, earthquakes, hurricanes, etc.). If these interactions go smoothly and naturally, disasters
may disappear; this has nothing to do with the cause-and-effect theory. According to this theory, every
disaster is caused by intentional, or unintentional, behaviours of living beings. Since there are negative,
and sometimes positive, effects of disasters, scientists should look for scientific reasons that could
explain the occurrences of such disasters to avoid any possible future ones. Really, it is catastrophic if

disasters occur due to the of human, plant, animal, etc. casualties. That is, all life necessities
may get destroyed creating famine, draught, epidemic, illness, etc. For this end, scientists are required, if
there is a sense of responsibility with governments, to work day and night to protect, or at least reduce,
the occurrences of disasters. But, what if there are no specialized scientists in disastrous areas! I think,
all negative effects discussed above may take place but with a variety of numbers, causes, ways, and

casualties.

Questions:

1. The suitable title for the passage is

a) Natural Disasters
¢) Man-Made Disasters

2. The lack of scientists helps in
a) creating similar disasters in disastrous areas.
¢) creating different disasters worldwide.

3. Inline 7, 'ones' refers to
a) scientists
¢) occurrences

b) Unnatural Disasters
d) Disasters and Governments

b) creating similar disasters worldwide.
d) creating different disasters in disastrous areas.

b) reasons
d) disasters

4. Do all governments worldwide require scientists to work continuously to avoid disasters?

a) Yes except those with responsibility.
¢) No except those with responsibility

5. The phrase 'nothing to do with'in line 4 means

a) without
¢) with

b) No they don’t.
d) Yes they do.

b) against
d) not only

6. Based on the passage, if the interactions of elements happen naturally, there will be a lack of disasters.

a) Wrong to some extent b) Wrong

¢) True d) True to some extent

7. The writer wants to confirm that ""'unnaturalness'' is related to

a) effects of disasters
¢) problems of disasters

8. The blank in line 8 can be filled in with —

a) absence
¢) presence

b) causes of disasters
dya&c

b) reduction
d) decrease



B

QUESTION 2. Choose the CORRECT alternative in the following:

9. A—— is an animal which comes as a result of crossbreeding a lion with a tiger.
a) liger b) jackal ¢) wolf d) none of these
10. It is difficult to say how many exactly people are coming but I would say 30.
a) with b) at ¢) around d) for
11. The headmaster commences his speech with tears. The underlined word is synonymous with
a) finishes b) produces ¢) greets d) starts
12. A: Shall we go out? B: No, it :
a) Snows b) is snowing ¢) will snow d) was snowing
13. It's time for us to go home.
a)a b) the ) d) an
14. He was left alone with ———— to look after him.
a) no one b) anyone ¢) not one d) someone
15. ———— you give full attention to your studies, you will not succeed.
a) Although b) Accordingly ¢) Unless d) Because
16. There were problem with my uncle concerning crossbreeding. The incorrect choice is
a) b) ¢) d)
17. A topic ———— now .
a) has been discussed  b) is being discussed ¢) discusses d) is discussed
18. ———lovely food!
a) Which b) What a ¢) What d) Which a
19. Bill ————play tomorrow.
a) going to b) — ¢) shall d) is going to
20. A_dressmaker has given me a_two-paper test at school. The incorrect choice is
a) b) c) d)
21. That was the only thing that made me all books out.

a) take b) taking ¢) took d) takes
22. "My brother is interested in photography. He used to take his camera with him. . In addition,
I read a lot about paintings and painters. It is interesting''. The blank can be filled in with:

a) Recently, he has bought a new camera. b) I don’t have camera of my own.
¢) Some of his photographs have won prizes. d) For me, [ am fond of painting.

23. ""He has great knowledge of English history''. The suitable question for this sentence is:

a) Is English history available with him? b) Does he like English history?
¢) What kind of knowledge does he have? d) Is he fond of English history?

24. A can can be put away when necessary. The underlined word is a
a) modal verb b) noun ¢) verb d) conjunction

25. We can add to the word ''great'’ to make it a noun.
a) -ment b) -ous ¢) -tion d) -ness
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